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SECTION - A

Q1) Attempt any two of the following : [2 × 5 = 10]

a) Discuss the function of Entrepreneur.

b) Discuss the types of market survey.

c) Discuss the common errors in project report preparation.

Q2) Attempt any two of the following : [2 × 5 = 10]

a) Discuss the barriers in entrepreneurship.

b) How will you convert an idea into business opportunity. Explain.

c) Discuss in detail project report including market feasibility.

SECTION - B

Q3) Attempt any two of the following : [2 × 5 = 10]

a) Discuss principles of management.

b) Discuss characteristics of motivation.

c) Write and explain the functions of financial management.

Q4) Attempt any two of the following : [2 × 5 = 10]

a) Give the difference between Values and Attitude.

b) Diffentiate between profit maximization and wealth maximization.

c) Describe and explain the "Just-in-Time" ('JIT').

Q5) Write short note on any 'four' of the following : [4 × 2½ = 10]

a) Statistical Process Control

b) Trading Account

c) Human values

d) Excise duties

e) ABC Analysis

f) Qualities of a leader

Time : 2.30 Hours] [Maximum Marks : 50
[Minimum Marks : 17

NOTES :
i) Attempt all questions.
ii) Students are advised to specially check the Numerical Data of question paper in both versions. If there is any

difference in Hindi Translation of any question, the students should answer the question according to the English
version.

iii) Use of Pager and Mobile Phone by the students is not allowed.
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({hÝXr AZ wdmX)({hÝXr AZ wdmX)({hÝXr AZ wdmX)({hÝXr AZ wdmX)({hÝXr AZ wdmX)

Zm oQ > :Zm oQ > :Zm oQ > :Zm oQ > :Zm oQ > : g^r àíZm| Ho$ CÎma Xr{O`o &

"IÊS> - H$'"IÊS> - H$'"IÊS> - H$'"IÊS> - H$'"IÊS> - H$'

à.à.à.à.à.1) {ZåZ _| go {H$Ýhr Xmo àíZm| H$m CÎma Xr{O`o : [2 × 5 = 10]

A) CÚ{_`m| Ho$ H$m`m} H$s {ddoMZm H$s{O`o?

~) ~mOma Ho$ gd}jUmo Ho$ àH$ma ~VmB`o?

g) àmoOoŠQ> [anmoQ>© _| hmoZo dmbr gm_mÝ` Ìw{Q>`mo H$mo ~VmB`o?

à.à.à.à.à.2) {ZåZ _| go {H$Ýhr Xmo àíZm| H$m CÎma Xr{O`o : [2 × 5 = 10]

A) CÚ{_Vm _| AmZo dmbr ~mYmAm| Ho$ ~mao _| ~VmB`o &

~) {H$gr {dMma H$mo ì`dgm` Ho$ Adgam| _| H¡$go ~Xb gH$Vo h¡ {b{I`o?

g) ~mOma gmøVm (feasibility) H$mo em{_b H$aVo hþE {dñV¥V àmoOoŠQ> [anm}Q> Ho$ ~mao _| {b{I`o &

"IÊS> - I'"IÊS> - I'"IÊS> - I'"IÊS> - I'"IÊS> - I'

à.à.à.à.à.3) {H$Ýhr Xmo àíZmo Ho$ CÎma Xr{O`o : [2 × 5 = 10]

A) à~§YZ Ho$ {gÕmÝV H$mo g_PmB`o?

~) àoaUm H$s {deofVmAm| Ho$ ~mao _| ~VmB`o?

g) {dÎmr` à~§YZ Ho$ H$m`m} H$mo {b{IE Ed§ g_PmB`o &

à.à.à.à.à.4) {H$Ýhr Xmo àíZm| Ho$ CÎma Xr{O`o : [2 × 5 = 10]

A) _yë`m| Ed§ ad¡`m (EQ>rQ²>`yS>) Ho$ AÝVam| Ho$ ~mao _| ~VmB`o &

~) _wZm\$m H$s CÀMV_gr_m Ed§ g§nXm H$s CÀMV_ gr_m Ho$ AÝVamo H$mo g_PmB`o &

g) ""OñQ> BZ Q>mB_'' Q>_© H$mo g_PmVo hþ`o {b{I`o &

à.à.à.à.à.5) {ZåZ{b{IV _| go {H$Ýhr Mma na g§{já {Q>ßnUr Xr{O`o : [4 × 2½ = 10]

A) gm§»`H$s` à{H«$`m {Z`§ÌU

~) Q´>oqS>J ImVm

g) _mZdr` _yë`

X) CËnmX ewëH$

`) E.~r.gr. {díbofU

a) ZoVmAmo Ho$ JwU
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